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QUESTION 1

On a RIPng network, configure a router to advertise the default route to the entire network. Which of the following
configurations is correct? 

A. [Huawei]ripng 1 [Huawei-ripng-1]import-route static cost 2 [Huawei-ripng-1]quit [Huawei]ipv6 route-static :: 0 NULL0 

B. [Huawei]ripng 1 [Huawei-ripng-1]import-route static cost 2 [Huawei-ripng-1]quit [Huawei]ipv6 route-static :: 0
2001:19:9 

C. [Huawei]ripng 1 [Huawei-ripng-1] ripng default-route originate [Huawei-ripng-1]quit 

D. [Huawei]interface GigabitEthernet0/0/1 [Huawei-GigabitEthernet0/0/1]ipv6 enable [Huawei- GigabitEthernet0/0/1]ipv6
address 2001::12::1/64 [Huawei-GigabitEthernet0/0/1]ripng 1 enable [Huawei-GigabitEthernet0/0/1]ripng default-route
originate 

[Huawei-GigabitEthernet0/0/1]quit 

Correct Answer: D 

 

QUESTION 2

The BGP EVPN distributed gateway is implemented in the virtual machine migration field. Which of the following is
required? 

A. Type3 

B. Type5 

C. Type4 

D. Type2 

E. Type1 

Correct Answer: D 

 

QUESTION 3

IPSG DHCP-snooping can be configured to statically bind or bind to a table. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 4
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Which of the following statements regarding BGP route summarization is true? 

A. Routes in the local BGP routing table can be manually aggregated. 

B. After the aggregate ipv4-address mask command is configured, only summary routes are advertised and specific
routes are not advertised. 

C. By default, automatic BGP route summarization is enabled. 

D. BGP supports manual aggregate and automatic summarization of IPv6 routes. 

Correct Answer: C 

 

QUESTION 5

Which of the following statements regarding a TCP sliding window are false? 

A. The sender advertises the size of the initial window. 

B. If the sender does not receive an acknowledgment message after the retransmission timer times out, it retransmits
the unacknowledged data. 

C. The sliding window size can only be increased or remains unchanged. 

D. A TCP sliding window allows the sender to send multiple data packets before receiving an acknowledgment
message. 

E. The sender does not need to transmit packets with a complete window size. 

Correct Answer: ABE 
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